(1)
f,=0
f, = ~x1 - ~x,
f3 = ~x1 %,
fy = ~X1 ~X, V ~X; " Xy
fo = x4 ~x,
fe = ~X1 ~X, VX1 * ~Xy
f; = ~X1 X, VXq - ~Xy
fg = ~X1 - ~X3 V ~X1 Xy VX * ~Xy
fo =x4 - %,
fio = ~X1 - ~X3 VXq - Xy
fi1 = ~X1 "X, VX1 * Xy
fio = ~X1* ~X; V ~Xq X3 VX * Xy
fiz = X1 ~X; VX "Xy
fia = ~X1* ~X; VXq * ~X5 VXq * Xy
fis = ~X1 X3 VX1 - ~Xy VXq - Xy

f16_ ""Xl'~X2V~X1'X2VX1'~X2VX1'X2

2)
fi = (X1 VX2) - (X1 V ~X3) - (~X1 VXg) - (~X1 V ~X3)
fo = (X1 V~x%z) - (~%X1 VX3) - (~X1 V ~X3)
fg = (X1 VX3) - (~X1 VX3) - (~X1 V ~X3)
fo = (~x1 VX3) - (+X1 V ~X3)
fs = (x1 VXz) - (X1 V ~X3) - (~X1 V ~X3)
fo = (X1 V ~%3) - (~X1 V ~X3)
f7 = (X1 VX3) - (~X1 V ~X3)
fg = (~x1 V ~X3)
fo = (X1 VXz) - (X1 V ~X3) - (~X1 V X3)
fio = (X1 V ~%x3) - (~X1 VX3)
fi1 = (x1 VX2) - (~%1 VX3)
fi2 = (~x1 VX3)
fiz = (X1 Vx2) - (X1 V ~x3)
fia = (X1 V ~X3)
fi5 = (X1 VX2)
fie=1



3

fz = ~X1 . ~X2
f3 = ~X1 . XZ

f4 = ~X1

fo = ~x,

f; = ~%Xq - Xy, VXq * ~Xy
fg = ~x4 V ~x,

fo = x4 - %,

f10 = ~X1 - ~X VX - X
fi1 =%,

fi, = ~X; VX,

fis =%

fia = X1V ~X,

f15 = X4 VX2



